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1L (6%) B RS A RSB S (Pundamental set of solutions)

V' =2y +5y=0; " cos2x, e*sin 2x, (—oo,00)
2. (10%) BAEEH BRI |
2y"+y' —y=x+1, y(0)=1, y'(0) =0.
3.(6%) FR—FEE M (x, y) (5 FHIA T2 S IE 2 (Exact)

M(x, y) dx-l—(xe"y +2xy+lj dy=0
x

4. (8%) FK NI FTFE B AR
(x+D)y +(x+2)y=2xe~"
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6.(12%) A = (_ 7 SJ KA E’ﬂ?ﬁ’—}%ﬂﬁ(eigenvalues)&%%’kﬁ%(eigenvectors)
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7.(10%) R |4 b c|=(-a)e-a)(e-b) emrgmE A= FidetA=|"
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8. (5%) Kkf& L+s BYh Ehr B8 (inverse Laplace transform).

s? —4s
9. (10%) R e TFITES HERZEHE £()
f@) =28+ [ f()dr.
10. (10%) SREEEKEL f(x) Z EI BB (Fourier series).
f(x)=5x-cos(3x), —m<x<7.
11. (15%) &5 YERIRE (boundary value problem)

2
6_u=9§_7;i foro<x<3,t>0
ot  Ox

u(0,6)=0, u(3,£)=0 for > 0

u(x,0)=x+2 for 0 <x<3.






